
Scientific Notation (H)Convert each ordinary number to scientific notation.
629,000,000 = 0.0000189 =

2,610 = 4,900 =
0.0000001531 = 80,000 =

447,000 = 2,811 =
0.007 = 5,350 =

0.0000004477 = 0.0000000157 =
33,400,000 = 0.000000634 =

0.0000002019 = 0.00000022 =
4,400 = 97,800,000 =

3,320,000 = 0.000000161 =
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Scientific Notation (H) AnswersConvert each ordinary number to scientific notation.
629,000,000 = 6.29 × 10⁸ 0.0000189 = 1.89 × 10⁻⁵

2,610 = 2.61 × 10³ 4,900 = 4.9 × 10³
0.0000001531 = 1.531 × 10⁻⁷ 80,000 = 8 × 10⁴

447,000 = 4.47 × 10⁵ 2,811 = 2.811 × 10³
0.007 = 7 × 10⁻³ 5,350 = 5.35 × 10³

0.0000004477 = 4.477 × 10⁻⁷ 0.0000000157 = 1.57 × 10⁻⁸
33,400,000 = 3.34 × 10⁷ 0.000000634 = 6.34 × 10⁻⁷

0.0000002019 = 2.019 × 10⁻⁷ 0.00000022 = 2.2 × 10⁻⁷
4,400 = 4.4 × 10³ 97,800,000 = 9.78 × 10⁷

3,320,000 = 3.32 × 10⁶ 0.000000161 = 1.61 × 10⁻⁷
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